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COMMERCE
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

In accounting, profit prior to
incorporation is treated as

(A) Revenue Reserve

(B) Secret Reserve

(C) Capital Reserve

(D) General Reserve

Receipts and Payments Account is

prepared by

(A) Manufacturing concerns

(B) Non-Trading concerns

(C) Trading concerns

(D) Companies registered under
Companies Act, 1956

Owners equity stands for

(A) Fixed Assets minus Fixed
Liabilities.

(B) Fixed Assets minus Current,

Liabilities. .
(C) Current Assets minus Fixed
Liabilities.
(D) Total Assets minus Total outside
Liabilities.

When the Debt Turnover Ratio is 4,
what is the average collection period ?

(A) 5 months (B) 4 months
(C) 3 months (D) 2 months

Which of the following will result into
sources of funds ?

(i)  Increase in current assets

(i)  Decrease in current assets

(iii) Increase in current liabilities

(iv) Decrease in current liabilities
Codes :

(A) (i)and(iv) (B) (ii)and (iii)
(C) (i) and (iii) (D) (ii)and (iv)
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In marginal costing, contribution is
equal to

(A) Sales — Fixed cost
(B) Sales — Variable cost
(C) Sales - Profit

(D) Sales — Variable Coét +7Fixed
cost

The funds available with a company
after paying all claims including tax
and dividend is called

(A) Net Profit

(B) Net Operating Profit
(C) Capital Profit

(D) Retained Earnings

Assertion  (A) : Accounting
information refers to only events
which are concerned with
business firm.

Reason (R) : Accounting information
is presented in financial
statements.

Codes :

(A) (A)is correct, but (R) is wrong.
(B) Both (A) and (R) are correct.
(C) (A)iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

When average cost is declining
(A) Marginal cost must be declining.

(B) Marginal cost must be above
average cost.

(C) Marginal cost must be below
average cost.

(D) Marginal cost must be rising.
D-08-12
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10. ABC Ltd. has declared 40% dividend. 14.  Which of the following statements are
Which one of the following does it correct ?
mean ? l. Inventory includes raw
(A) The company has declared 40% materials, finished goods and
of net profit as dividend. work — in — progress.
(B) The company has declared 40% Il Inventory is a part of the
of profits after tax as dividend. working capital. _
(C) The company will provide . :Q\E)E;ntcl)lrryéhlgszlgdes goods likely
dividend 40% on issued capital. Codes - P '
(D) The company will provide A) | '“ and 111
dividend 40% on paid-up capital ’
' (B) MHandll
(©) Tlandlll
11. The main objective of Accounting (D) landIl
Standards is
(A) To prepare the accounting 15. If the current ratio is 2 : 1 and working
reports  which is  easily capital is ¥ 60,000, what is the value of
understood by common man. the Current Assets ?
(B) To comply with the legal (A) 60,000
formalities. (B) ¥1,00,000
(C) To harmonise the diversified (C) % 1,20,000
accounting practices. (D) ¥1,80,000
(D) To comply with the - _
requirements of the International 16. Which of the following steps of
Accounting Standards (IAS). purchase decision process is in
LS sequence ?
. . 1. Problem recognition
12. Given below are two statements : .
o ) 2.  Search for alternatives
. Activity ratios show where the 3. Evaluation of alternatives
company 1S going. 4. Purchase action
Il.  Balance Sheet ratios show how 5. Post purchase action
the company stand. Codes -
Codes : (A) 1,3,2,4,5
(A) liscorrect, but Il is wrong. (B) 1,2,4,3,5
(B) Both I and Il are correct. (€) 21,354
(C) liswrong, but Il is correct. (D) 1,2,3,4,5
(D) Both Iand Il are wrong. 17.  What is customer value ?
(A) Ratio between the customer’s
13. Income and Expenditure Account of perceived benefits and the
non-profit organisation is a resources used to obtain these
(A) Real Account ®) kéeneﬂts. ¢ atisfact
: xcess of satisfaction over
(B) Nominal Account expectation.
(C) Personal Account (C) Post purchase dissonance
(D) Representative Personal Account (D) None of the above
Paper-I111 4 D-08-12
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18.  Match the items of List — I with items 20. Assertion (A) : High customer
of List - II. expectations lead to dissatisfaction as
List — | List = 11 phroduct performance never matches

. . them.

a. The silent mental 1. Encoding .

repetition of information. Reason (R) : Produc_t _performance is
. always customer specific.
b. The process by which 2. Rehearsal Codes -
e select a word or '
Vieual mage to ‘r"épresem (A) Both (A) and (R) are correct.
a perceived object. (B) Both (A) and (R) are incorrect.

c. Where information is 3. Working © .(A) Is correct, but (R) is
kept temporari_ly before Memory Incorrfect. .
further processing. (D) (R) is correct, but (A) s

d. The stage of real 4. Store house Incorrect.
memory in which
information is processed 21. Under v_vhich concept of markej[ing do
and held for just a brief you find greater emphasis on
period. techniqgues and  technology  of

Codes : production ?
a b c q (A) Product
(B) Selling
A) 2 1 4 3 (C) Marketing
®1 2 3 4 (D) None
© 3 2 1 4 ) .
M) 4 3 2 1 : 22. Which is used for short-term sales
ks 1 achievement ?
. :
19.  Fill in the blanks : - (g) ersorl?'_se”'”g
: vertisin
Statements Altb_r.iatlves EC; Sales Pron?otion
a. Loyal customers 1. Less (D) Public Relations
products. . & attention
b. Loyal customers af 2."Cheaper 23. Public distribution system relates to
—sensitivgy (A) Marketing system
C. L0ya| CUStom IS pay 3 Less pl‘lce (B) Reta”'ng system
o e rttIZI(r:lo titor’s (C) Industrial system
g \} (D) Selling system
d. Serving sting 4. Buy more
customer 1s 24. Who do buy more, complain less,
Codes : spread positive word of mouth, ensure
a b c d a large customer base and repeat
A) 3 1 5 4 business ?
(A) Satisfied customers
® 4 3 1 2 (B) Delighted customers
€2 1 3 4 (C) Industrial customers
(D) 4 3 2 1 (D) None of the above
Paper-I111 6 D-08-12
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25.

26.

27,

28.

29.

There are impulses which persuade a
customer to buy certain products
without evaluating the positive and
negative value of the same.

(A) Emotional motives
(B) Blind motives

(C) Egoistic motives
(D) All the above

Which subject is relevant to the study
of consumer behaviour ?

(A) Economics
(B) Psychology
(C) Sociology
(D) All the above

Find an incorrect statement.

(A) Consumer attitude can be
summarized as evaluation of an
object.

(B) Attitudes are learned.

(C) Attitudes are synonymous Withk
behaviour.

(D) Attitudes
qualities.

have motivational

Who is considered Father of Scientific
Management ?

(A) Peter Drucker
(B) F.W. Taylor
(C) Victor Vroom
(D) Henry Fayol

Who did give the concept of hierarchy
of needs ?

(A) Fredrick Herzberg
(B) Victor Vroom
(C) Douglas Mcgregor
(D) A.H. Maslow

Paper-I111

30.

31.

32.

33.

34.

Assertion (A) : Management is a
continuous process.

Reason (R) : Managers first plan, then
organise and finally perform the
function of controlling.

Codes :

(A) Both (A) and (R) are correct and
(R) is correct explanation of (A).

(B) Both(A) and (R) are correct, but
(R) is not a correct explanation

of (A).

(C) (A) is correct, but (R) is
incorrect.

(D) (A) is incorrect, but (R) is
correct.

Induction of employees relates to
(A) Organisational awareness
(B) Training programme

(C) Introduction

(D) Assignment of duties

‘Kinked’ demand curve is related with
(A) Monopoly

(B) Discriminating monopoly

(C) Oligopoly

(D) Perfect competition

Who is not associated with HRM ?
(A) Michael J Jucius

(B) Dale Yodar

(C) Edvoin B. Flippo

(D) K.K. Devit

Merit rating is not known as
(A) Efficiency Rating
(B) Service Rating
(C) Job Rating
(D) Experience Rating
D-08-12
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35. Match the items of List — | with the

items of List — II.

List—1 List— 11
a. FEMA 1. 1986
b. Indian Factories Act 2. 1999
c. Industrial Dispute Act 3. 1948
d. Consumer Protection Act 4. 1947
Codes :
a b C d

A 4 2 3 1

B 3 1 2 4

© 2 3 4 1

D) 1 4 3 2

36. If price of any commodity decreases
by 20% and the demand for that
commodity increases by 40%, then
elasticity of demand would be

(A) perfectly elastic

(B) perfectly inelastic

(C) unit elastic

(D) highly elastic

37.  Which of the following statements is
true ?

(A) In case of inferior goods, the
income effect is negative,
although the substitution effect
IS positive.

(B) In inferior goods, the income
and substitution effects are
positive.

(C) In inferior goods, the income
and substitution effects are
negative.

(D) In case of inferior goods, the
income effect is  positive
although the substitution effect
IS negative.

Paper-I111
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38.

39.

40.

41.

42.

In perfect competition, the demand
curve of a firmis

(A)
(B)
(©)
(D)

Vertical
Horizontal
Positively sloped

Negatively sloped

Which one is
incentive ?

(A)

not non-financial

Additional bonus on minimum
wasteful expenditure.

(B)
(©)
(D)

Permanent job.
Participatory decision making.

Recognition of individuality.

HRM does not include
(A)
(B)
©
(D)

job evaluation
performance appraisal
sales promotion

job enrichment

The term (1-B) is called
(A) Level of the test
(B) Power of the test
(C) Size of the test
(D) None of the above

The area under normal distribution
covered within (1 + 3o limits is

(A) 0.6827
(B) 0.9545
(C) 0.9973
(D) 1.0000

D-08-12
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37.

(B)

(©)

(D)
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38.

39.

/40.

41.

42.

quT I |, ®H ST HIT a5
(A) oT=Ed AT e |
(B) et B & |
(C) &FTcHs &Y ¥ gofal aiar & |
(D) OIS ¥ & gogal e ¥ |

frafafad & 9 =9 91 WfomE dieae
g9

(A) FFaH e[l @F (Ut T@9) W

Afaiea S99
T S
FEATATgoT foTiieTor

g ferTehdT sl TETH

(B)
(©)
(D)

HRM (T9 3R ) H Hfefiad aiase
T E

(A) 1 Fearh

(B) TR oA

(C) fomra Hare

(D) & ggEar

TS (1 — B) FECA &
(A) TRIEI0T T TR
(B) ORI ol &rHAT
(C) TNETOT T 3MHR
(D) W H I HE TE

=T foeRoT % S Y+ 30 9T &
31T 3T ATl AT BT E

(A) 0.6827
(B) 0.9545
(C) 0.9973
(D) 1.0000
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43.

44,

45.

46.

a.

b.

d.

; Prlce trends ?

Sampling distribution of mean is very
close to the standard normal
distribution when

(A) Population IS
distributed.
Population is not normally
distributed, but sample size is
large.

(C) Both (A) and (B).

(D) Neither (A) nor (B).

If the wvalue of co-efficient of
determination is 0.64, what is the
value of coefficient of correlation ?

(A) 0.40

(B) 0.80

(C) o0.08

(D) 0.04

normally

(B)

Which one of the following is not a
source of conflict in project ranking in
capital budgeting decision as per NPV
and IRR ?

(A) Independent Investment Project
(B) No Capital Budget Constraints
(C) No time disparity

(D) None of the above

Match the following :
List-1 -
Trade policy

. Elst -1

1( Eco omic
conditions

2. Economic

policies

Global linkages

. Structure and
Nature of
Economy

Trade flows , "
'd

Internal sector
. linkages

-

Codes :

(A)
(B)
(©)
(D)

P P, DN WD
NN WL T
A WL NO
w b~ b~ b O
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47.

48.

49.

50.

51.

Which one of the following is not a
benefit of privatisation ?

(A) Encourage entrepreneurship.

(B) Concentration of economic
power.

©)

Better management of
(D)

enterprise.
Freedom from bureaucracy.

‘BOLT” system in the Indian

Securities market is related to
(A)
(B)
(©)

National Stock Exchange
Bombay Stock Exchange

Over the Counter Exchange of
India

Multi
Exchange

Stock

(D) Commodity

Which one of the following is not a
money market instrument ?

(A)
(B)
(©)
(D)

Commercial paper
Participatory certificates
Warrants

Treasury Bills

Which one is related with micro-
financing ?

(A) SHG

(B) Anganwadi workers
(©)
(D)

Women Entrepreneurs
None of the above

Which one of the following is not an
element of internal environment ?

(A)
(B)
(©)
(D)

Mission/Objectives
Human Resources
Customers

Shareholders’ values
D-08-12
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43.

44,

45.

46.

B> B R o 2 M o P T | o O
forRoT & S T & € 5

(A) T I w9 Y foafia € |

(B) THw wmg &9 ¥ foaRa @ &
TR UfdeeT HT SMHR TS ¢ |

(A) 3R (B) T &
T(A) AXTTE (B)

(©)
(D)

Ifg fTROT & TOTE H AW 0.64 €, A
TEGY % OIS ST HIF 4T & 2

(A) 0.40

(B) 0.80

(C) 0.08

(D) 0.04

T Ot S qT 3T AR IR F AR, Usit
goted [ | Uit e | Ty o
Hiq feferiad o @ i |1 961 & 9

(A) T e aREsHr
(B) g YSINTA aISTe Toh1ae Tl
(C) ¢ Tma faumar &t

(D) SH | W g Tél N

b. =R IEE| 2. el i
. C, TS 3. afew whedt
(6. W aTfeaT

FHrear I G

_ qT TTE

i a b lc d

A3 1 2 4

B 2 3 1 4

© 1 2 3 4

@ 1 2 4 3
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47.
48.
/49.
50.

51.

fr=fafad & @ @i |1 FHeieor &1 o
T E?

(A) STfFar & Uieae—

(B) 3Tk VTR BT e [ohe0T

(C) S| H AgR Tae

(D)

TR W =

IRAE Ud[d ISR § ‘e’ HoTelt
fera weafaa € 2

(A) T I TR

(B) df IR SRR

(C) 3TieR S P15 USHTST 31T Svear
(D) &g ] ¥R SR

frefafad & & =i 91 J57 IR 99T Tal
T2

(A) afurfsores o
(B) et yrETOTR
(C) =R=Hg
(D) <oRI e

fefefEd 9 9 si9 a1 &te fog auo 9
et & 2

(A) wHTI S
(B) eETE! bl
(C) dfeeT et
(D) W H F HiE el

et § | i 91 3T=Reh ardreror
1 o Tel € ?

(A)  AEF/RYE
(B) ¥ dHTET
(C) wmew

(D) 3Tl T god
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52.

53.

54.

55.

The presence of fixed costs in the total
cost structure of a firm results into

(A) Financial leverage
(B) Operating leverage
(C) Super leverage

(D) None of the above

“The cost of capital declines when the
degree of financial leverage increases.”
Who advocated it ?

(A) Net operating income approach
(B) Netincome approach

(C) Modigliani-Miller approach
(D) Traditional approach

A view that the dividend policy of a

firm has a bearing on share valuation
advocated by James E. Walter is based
on which one of the following
assumptions ?

&

(A) Retained earnings is only source
of financing.

(B) Cost of capital does not remain
constant.

(C) Return on investment fluctuates.

(D) All the above.

Match the following‘: -
List— I List 11
a. Matching </ 1. [)ividbnd Policy
approach 3

_b. Structural"r] 2. Inventory

“ratios 4.« Management
(c Ordering Pinancing

quantity Working Capital
d,_ Bonus shares " 4. Capital Structure

Codes.

a b C d

A 1 2 3 4

B) 3 4 1 2

© 3 4 2 1

Db 2 1 3 4
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56.

S7.

58.

59.

60.

Assertion (A) : Operating style of the
international business can be
spread to the entire globe.

Reason (R) : The style is limited to
the internal economy only.

Codes :

(A) Both (A) and (R) are true.
(B) (A)istrue, but (R) is false.
(C) (A)is false, but (R) is true.
(D) Both (A) and (R) are false.

The Comparative Cost Advantage
Theory was given by

(A)
(B)
(©)
(D)

David Ricardo
Adam Smith
Raymond Vernon
Michael E. Porter

The companies globalise their
operations through different means :

(A) Exporting directly
(B) Licensing/Franchising
(C) Joint ventures

(D) All the above

The components of W.T.O. are
(A) Ministerial Conference
(B) Disputes Settlement Body
(C) Director General

(D) All the above

India is not associated with
(A) SAARC
(B) NAFTA
(C) BRICS
(D) None of the above
D-08-12
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52.

53.

4.

55.

TH & el AN G § FeR ommt @
IJufefc s TR g &

(A) Toxit= e

(B) URETeHHS STCH

(C) YW e

(D) Sww H A HiE TE

‘ST Tomiia SHie (efersT) o feult sedr
&, o Gt ol AT W AT ST & 17 S
TR e o & 2

(A) & IRATHIS 3T GlEaI0
(B) % 3 gftewh

(C) wRifeteTHT — Moo gfteanioT
(D) URTRE greahIoT

S T 9o N gur foeR 6 v @

AT i T SR e IR T Il & |

frfeiaa 3 | foF AFgar W 3T € 2

(A) uideRa oH & fod Wiwor W
THA A € |

(B) Gt i T feR el et ¥ |

(C) e W ufeer it <X R el € | !

(D)

1}

%
i

o

d @R [ 4

(A)
(B)
(©)
(D)

N W W R ®
R N DN OT
W N R WO
AP N DO
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56.

S7.

58.

59.

60.

AfFe (A) R FadT i
HIATHSE el S THT JAISHA T
Torai fopam ST W € |

R (R) I |

3TNk e deh i & |
&<
(A)
(B)
(©)
(D)

T (A) T (R) ¥ € |

(A) T &, R (R) 30T ¢ |
(A) 39T &, R (R) TF ¢ |
ﬁ(A)qaq(R)_m%L )

TS AN A g 1 ATdqae
fopa

(A) <fas feptet
(B) uew =y

(C) ¥vE ITH
(D) TR T, 9ieX

FHrar fafe=t mredl ¥ 3T S @
(A) v fard & arery 9

(B) IEHET / heaTSioTT o AT |
(C) HgeR 3SUsHAT & TTeAy o

(D) SRR Tt

T, A oM. F I
(A)
(B)
©)
(D)

HATATIR HThg

foree T Hed
e FRve
SYeRT Gt

IR 1 Ty Tél &

(A) 4 % qrT

(B) AT % AT

(C) T s |1

(D) ST | F i o &
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61.

62.

63.

64.

Which one of the following is true
statement ?

(A) A balance of trade deals with
export and import of invisible
items only.

(B)

A balance of payment deals with
both visible and invisible items.

The current account is not a
component of balance of
payment.

(D) All the above.

(©)

SDRs are popularly known as
(A) Currency Notes

(B) Paper Gold

(C) Silver Coin

(D) Gold Coin

Which one is
institution ?

(A) IMF
(B) IDA
(C) IBRD
(D) TRAI

not international

Assertion (A) : Indent may be open or
closed. Open indent does not
specify the price and other details
of the goods. The closed indent
specifies the brand, price,
number, packing, shipping mode,
insurance, etc.

Reason (R) : This is required as a part
of export procedures.

Codes :

(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are not correct.
(C) (A)is true, but (R) is false.

(D) (R)istrue, but (A) is false.

Paper-I111
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65.

66.

67.

Which one of the statements is not
true ?
(A) Institutional infrastructure

facilitates market intelligence.
STC is the chief canalizing agent
for export and import of
agricultural products.

IIPO organizes trade fairs and
exhibitions.

Letter of credit does not indicate
that the bank will pay the value
of imports to the exporter.

(B)

(©)
(D)

Match the items of List — | with items
of List—II.

List =i | 4 ¥ st — 11
a. elective{ cr'é(dit 1. Consumer

¥ control Credit
- Regulation
. Engourage credit 2. Cash Reserve
for desirable use Ratio
c antitative 3. Variation in
redit control Margin
d. fauk.li‘{te 4. Re-discounting
Rate
Codes :
a b C d
A 4 2 3 1
B 3 1 2 4
© 1 3 2 4
D2 1 3 4

Assertion (A) : Use of paper money is
replaced by plastic money. The
future will see the electronic
money clearance through
satellite networking.

Reason (R) : RBI is encouraging
e-banking.

Codes :

(A) (A)is false, but (R) is true.

(B) (A)istrue, but (R) is false.

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are true.
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61. Tr=fafEd 3 & S 91 T T ¢ 2 65. aﬁqmwwqﬁ%?
(A) AR T<IeH Hact 3Tged a3l & (A) %ﬁ?@ﬁma@ﬁ“ e
& & |t
;Tﬁ A i (B) UEIAH. PO IR A
. | & o= )
(®) T S 57w e o ek e e 1
T 1 HEfer e € | | C) sEaEda =R e wm
(C) =Ire] WIAT YT H=er bl 3T el TERIET BT ST FHAT & |
T (D) W@ W TE W T F &
(D) ST &t | Jo TaTdehdl ot ST & o
A BT 2
62. TEE. X AHHT €9 T ST S & 66. qzﬁla%na‘raﬁa;ﬁna%ﬂa‘r@gﬁﬁﬁ
(A) = =t - |y e - 11
JC\
(B) @i a WA 1. ST A
(C) =it e - & FEm forer
(D) ot fasm b gifsd ST 2. THE B
i éo‘%ﬁiwﬁ AT
63. TTH ¥ B T RIS T T E 2 \C. afeaoTerE 3 O d
(A) ITETATE, J @ e e
(B) smEIT R-_éw? 4 FEAR
(C) emEa. I, & . b e d
(D) 23R TS, A 4 2 3 1
B 3 1 2 4
. - <© 1 3 2 4
64. AMWHUT (A) : Te (IRY) Tl D)2 1 3 4
T I & T § | Goll T
g % qod TaH 3 foawer
e, A e, e e o & WreTez e % W
o, @ , 3 5 & TR TR R A
. %HRT (R) : Rotd o o gfuean
TR - g &3 1 e A A E |
T %<
(A) = (A) 7 (R) W& ¥ | (A) (A) 38 & W (R) ¥ |
(B) =M (A) T (R) W T & | (B) (A)¥=E W (R) IWAE |
(C) (AT ¢, W (R) ITAE | (C) =HT(A)wad (R) @A & |
(D) (R) A&, W= (A) A E | (D) = (A) T (R) e & |
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68.

69.

70.

71.

Which one is not Finance Company ?
(A) Hire-Purchase Finance Company
(B) IRDA

(C) Mutual
Companies

Benefit Finance

(D) Loan Companies

The Securities and Exchange Board of
India was not entrusted with the
function of

(A) Investor Protection.

(B) Ensuring Fair
companies.

practices by

(C) Promotion of efficient services
by brokers.

(D) Improving the earnings of equity
holders.

Which one is not Non-MarketabIe:\L

securities ?

(A) Corporate Securities

(B) Bank Deposits

(C) Deposits with Companies

(D) Post Office Certificates and
Deposits

Minimum Alternative Tax (MAT)
under Sec.115 JB of the Income Tax
Act is applicable on

(A) Partnership firm
(B) Association of persons
(C) Certain companies

(D) All types of companies

72.

73.

74.

75.
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For the Assessment Year 2011-12,
deduction under Sec. 80G is available
without any limit but at the rate of
50% on

(A) Prime Minister’s National Relief
Fund.

(B) National Foundation for
communal Harmany.

(C) Jawahar Lal
Fund.

(D) Chief Minister Relief Fund.

Nehru Memorial

Interest on capital paid by a firm to its
partners, under the Income Tax Act,
1961, is allowed

(A) 6%
(B) 12%
(C) 15%
(D) 18%

Under capital gains head of the
Income Tax Act, the income from sale
of Household Furniture is

(A) Taxable Income
(B) Capital Gain

(C) Revenue Gain

(D) Exempted Income

Under Section 80E of the Income Tax
Act, 1961 deduction in respect of
payment of interest on loan taken for
higher education shall be allowed
up to

(A) T 10,000
(B) 15,000
(C) T 20,000
(D) Without any limit
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68.

69.

70.

71.

9 @ B G fore e @ € 2
(A)
(B)
(©)
(D)

SR TS fa el

e IMET,
B dfThe for s
0T HETAAT

IRA g T e s i o8 9O
Tel fean T

(A) fafmameat e
(B) ATl Tel e Y T GHvEd
HET

(C) i FRT P HaATST Hl G
HAT

(D)  3TETRERT I 3T Hf T

T I 1 IR o wfafa 7@ § 2
(A) e Hiaufar

(B) d% SN

(C) Fwaar & U ST et

(D) R FARE STHIT ToH FHIOTTT

TR AT H GRT 115 — I o &

3T e dehieush Y (HE) W] &l
3

(A) WERR & W
(B) =Tl o THEE WX

(C) T FWHAT T
(D) @ YR & FHHAT T
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72.

73.

74.

75.

T FF9RT I 2011-12 & &= 9RT - 80
St o ST foeT TR | o IR 50%
I T § Heldl IUTey &

(A) TuH H= & UL Ted B W

(B) WmRI® WEME ¥ L™
IR W

STATEY AT 8 TR HiY T

(©)

(D) 7T 9= TEd HY W

ATHRT AHETH, 1961 & T=d fHdr
T FRT U AEERT i a1 797 ISt W)
ST Wil &

(A) 6%
(B)
(©)
(D)

12% 9
15% 9
18% T

IMIHT ST & Yol ol & SM9h &
3T, BRe] TrATeR o fasha & o1 &l &

(A) FETT 3T
(B) STt wifte
(C) 3maTd wifed
(D) +F =

T SATEFFH, 1961 T 4RI 80 — 3
3T Sd f¥7eTT & ford T ShOT WY =T
% T T HIll WHHd &

(A) 10,000 TF
(B) ¥ 15,000 TF
(C) ¥ 20,000 TF
(D) T T
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